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QUESTION 1

An architect has an Instant AP (IAP) cluster at a mid-sized branch office. The IAP cluster now needs to tunnel corporate
traffic to a Mobility Controller (MC) at the main office. However, the branch office should remain functional even if the
link to the main office fails. Users at the branch office require access to main office resources, but do not require
multicast services.

What is the recommended DHCP mode?

A. Local

B. Centralized L2

C. Distributed L2

D. Distributed L3

Correct Answer: D

QUESTION 2

An architect plant to purpose an Aruba wireless solution with several Mobility Controllers (MCs) and a Mobility Master
(MM) architecture. Wireless users run Skype for Business, a Unified Communications (UC) solution. The architect plans
to use the Aruba SDN capabilities to integrate with the UC solution.

What helps to support high availability specifically for the SDN services?

A. a redundant master MC

B. backup controllers defines on the APs

C. a cluster deployment for MCs

D. a redundant MM

Correct Answer: D

QUESTION 3

A customer requires a wireless upgrade. The architect proposes: Aruba AP-325s Mobility Controller (MC) 7210s Virtual
Mobility Masters (MMs) ClearPass AirWave

The customer is interested in wired authentication, as well as wireless authentication, but does not have the budget to
upgrade the wired network. The wired network does not currently support 802.1X or RADIUS.

Which feature of the Aruba solution should the architect explain to justify the proposed solution?
A. The customer can direct all wired traffic through the MCs, which will then apply security to that traffic.

B. The customer can direct all wired traffic through the MMs, which will impose basic security checks.
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C. ClearPass OnConnect can enable wired authentication on these switches through the use of SNMP.
D. AirWave can manage these switches and shut down their ports if an unknown user or device connects.

Correct Answer: C

QUESTION 4

Which guidelines should an architect use to determine how many AirWave servers to recommend?

A. One server should be deployed on every subnet with an infrastructure device.

B. One server is recommended for the base features and one server each for add-on features such as Clarity.
C. One server should be dedicated to the wired infrastructure and one server to the wireless infrastructure.

D. One server should monitor and manage up to about 4,000 infrastructure devices.

Correct Answer: A

QUESTION 5

What should an architect use as a guideline to determine when to minimize VLANSs in a wireless design?
A. the WLAN or SSID, with a different VLAN for each SSID

B. the coverage area, with a different VLAN for every 4000 square feet (372 square meters)

C. the number of devices, with a different VLAN for each 250 devices

D. the employee roles, with a different VLAN for each role or department

Correct Answer: D
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